&

Loy W

Which number will come in the place of
Question mark ?

8,12,9,13,10,14,?

(A) 10 (B) 15

(C) 11 (D) 16

Which of the following input device Is used to
convert a document into an electronic format
and it can be stored on the disk ?

(A) Printer (B) Plotter
(C) Scanner (D) Projector

Who is the current President of Indian
Weightlifting Federation ?

(A) Bajrang Punia (B) Anand Gowda
(C) Sahdev Yadav (D) Santosh Yadav

Which of the following Courts have the power
to issue writs for the enforcement of the
Fundamental Rights in the Country ?

(A) Supreme Court (r 5
(B) High Court iy
(C) Both (A) and (B) s
(D) None of the above

Indian System of Medicine (ISM) includes

____systems.
(A) Five (8) Six
(C) Three (D) Ten

Which letterintheword 'SELFRIGHTEOUSNESS’
does not change its position when the letters

are reversed ?

(A) T (B) G
(C) H (D) E

In how many years will a sum of
money double itself at 5-1-% simple

interest per annum ?

(A) 24 years (B) 20 years
(C) 12 years (D) 16 years
Of the 84 parents who attended a meeting at

Junteered to supervise children
during the school picnic and 11 volunteered
both to supervise children during the picnic
and to bring refreshments to the picnic. If the
number of parents who volunteered to bring
refreshments was 1.5 times the number'of
parents who neither volunteered to supervise
children during the picnic nor volunteered to
bring refreshments, how many of the parents

a school, 35 vo!

volunteered to bring refreshments 7
(‘3 25 (B) 36
a2 (D) 45
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/ ; . wTT .
A Fae % v w -4 HE At 1

8,12,9,13,10,14,7

(A) 10 (8) 15
() 11 (D) 16

B § @ FR-91 WIE fEaTE R 5
w yaagifi e # fardd w o 3
&wmﬂmﬁmmmgm
(A) iz (B)
(C) #HAT (D) S

¥ mﬁﬁummﬁu%aéﬂnmaaﬁﬁ?
(A) woren g (8) T M
(C) T@aa Fred (D) Hdrg Fred

/. o1 i dhferas vl & ward 3 fore fe s w3
a1 sftverw Ereferfiaa # & fre =maTed R 7
(A) HaTwd ATed
(B) F=d =TT
(C) (a) 3 (B) 2T
(D) 390 7 A #rd 7E

wrdta siafy woneh (3. caum.) #
yorferaf wfie € |
(A) uf=
(©) THN ‘lD) b
= gﬁ?ﬁ%ﬂgousﬁ E£SS' H FH-H1 &
AT TAH 78] I, 9 Haw Ierz A A for@
sag? GSC
(A) T (B) G
(C) H 1 (D) E
/7/ wfd ad GZ% GITO] ST 9T IS

iz A 7

(A) 247 (8) 20

(c) 1234 (D) 16ad

e Tl ) A § Iufla 84 s A 8 35
mﬁwﬁmmﬁm%mmam*

oy et & 3t 11 stfenaes e & 40

e ) FEv i A e 2t ¥ R Al

¥ mﬁmaﬁaﬁmﬁﬂmaﬁmﬁﬁ

e ¥R SR 1 1.5 7 8, 3 R

e A A A ) e 3 for et £

) v e % forw At R, R

T A & forg aneifeat @ 7

(A) 25
(C) 42

U
Y —
Le

(B) ©:

afdy fore adl

[E1¥,

-

S
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9. Example for Baby AT Motherboard
(A) Pentium | (B) Pentium 1|
(C) Pentium Il (D) Pentium MMX

10. The process of cleaning dirty money with the
objective of hiding its source and enabling it to

be used later in a legal form is
(A) Smuggling (B) Black money
(C) Demonetization (D) Money laundering

Which bankruptey law of India

seeks to consolidate the existing
framework by creating a single law

for insolvency and bankruptcy 7

(A) The Bankruptcy Code, 2020

(8) The Insolvency Code, 2020

(C) The Insolvency and Bankruptcy Rule, 2021
(D) The Insolvency and Bankruptcy Code, 2016

In which year did the Ancient Olympic Games
begin ?

(A) 756 BCE
(C) 776 BCE

In the Olympic games, the flags of 6 nations
were flown on the masts in the following way :
The flag of America was to the left of Indian
Tricolour and to the right of the flag of France.
The flag of Australia was on the right of Indian
flag but to the left of the flag of Japan, which
was to the left of the flag of Canada.
Find the two flags which are in the centre.
wo —— 2#0 (A) America and India
1 (B) Japan and Australia
',.g, 3541 (C) America and Australia
Z W & (D) India and Australia

“ 14, Which of the following does not represent

11,

12.

(B) 765 BCE
(D) 782 BCE

1N
U

-
4

e ; electrical power in a circuit ?
T (A) PR (B) IR?
Vz
€ w (D) —

15. Find the missing number

(A) 11
(€) 13

(8) 17
(D) 19

CMMS - 51

(9.) o, &), warand w1 e
(A) i]f,gmn (8) ey
() Wl (D) fam pmmx
fsar sifaha % amer 712 v % e 1 s a1

lo.
' 30 1A B I D o ¥ sk @
ark o e B 7
(A) TRl (B) #ren ua
(c) T (D) wt @iz
11, Aeanfern st amvm e % few vas 6w o
T % WA A~ mﬁ'arf%fmmmqnmm
i fepa e B 7
(A) feanferm wfean, 2020

(B) ¥ Fngrwan wfgan, 2020
(C) feanferan va vivam svsman fzm, 2021
(D) Ranferan v v veman wfean, 2016

12" Wl el deil 1 3w e ad gan 7

mag (A) 756 £.9. (8) 765%.9.
g’ﬁ (C) 776 3.4 (D) 782%.4.
13

aﬁaiﬁa:ﬁa’iﬁ 6 T & g2 Frefaras afs 8

mﬁﬁtﬂmmtﬂi%zﬂaﬁm

F1 S RG] T | HferE F1 HE, WA F
%2 % 2 & 9ig 9 F F2 F w8, S FAE

FgesFand |
9-0 K \

JAFRIAF, NFAE |

14.

15.
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16.

17.

18.

19,

Which of the following connects a PC to a
Joystick ?

(A) Modem
(C) Game port

(B) Ethernet port
(D) DVI port

To enhance the financial inclusion, the Reserve
Bank of India has undertaken a project titled
(A) Project Financial Literacy

(B) Project Financial Tandrum

(C) Project Finance and Audit

(D) Project Literature

How many times will the minute hand
and the hour hand of a clock be at right
angles in 24 hours ?
(A) 12

(C) 44

(B) 24

(D) 48 mﬁ

Magnitude of drift velocity per unit electric field is
(A) Current density (B) Current

(C) Resistivity (D) Mobility
World’s most problematic aquatic weed is
(A) Pistia

(C) Eichhornia crassipes

(B) Lantana
(D) Cactus

Five boys took part in a race. Ram finished
before Mohan but behind Gopal. Vijay
finished before Sailesh but behind Mohan.
Who won the race ? -
(A) Ram (B) Gopal

(C) Mohan (D) Vijay

Which of the following is not a secondary
storage device ?
(A) Floppy disk
(C) Tape drive

(B) Hard disk
(D) Register

means a system of a secure key

pair consisting of a private key for creating a

digital signature and a public key to verify the
digital signature.

(A) Symmetric Crypto System

(B) Asymmetric Crypto System
(€) Symmetric Encryption System
(D) ’mm'ﬂecryptlon System

CMMS - 51

Prferfir i @ oy . ® vk Sfafes 5
’n’m ’ ? - -
(A) Widy (B) gaTAZTE

(C) My s (p) 24t o

ferefas pstrrer i @ fero, sreeta frord s 3
i fvarsen @ s fapan 2 7

y 2310
(C) wittaz wrgAH UE HiTez
(D) sz feetan

(A) vz gt feretd
(B) st wrgfiae S5

24 ¥i2 i fapareft am u =@ i firz 3l 92 ah
q§ wueio gt gnft 7

16,

17.

y:

(A) 12 (B) 24

(C) 44 (D) 48
a9 3rqarg an wfa garé faega & =1 gfmmor @
(A) foega wve= (8) faga wmu
(C) wferdrerran (D) nfasfreran _
fava it waffis avered i smqme
(A) fafemn . T R
(C) gaifan sifirm (D) ¥=zm M

qfa o7e% v e F wm S # | Tm, dres
} 98 WY Tt % S B wmre =T
R fom e S Ty e
T Al R | re de ?

(A) ™ (B) T
(C) wrew (D) fam
frafafes 4 @ sh-w1 w s
werw feaga adi & 7
(A) werrdt fEes

(C) 9 g
23.

20.

v
N

(8) wE fo
(D) Wz

— w3} uw Foit W H
Qﬁmw&&mmmtﬁqw

fosft gsft o faforeet wwxanem = wenrfis o &
fore weh wredafe fft e @

(A) wwfa e R

(B) sramfa iR fivem

(€) wmfive ufFhe fivey

(D) amfiva fafrr fiven
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24, Adice is thrown 3 times and its 3 positions are

given. Y
. 0 @
| e i I ] W
Which symbol is opposite to e
(A) § (B) ¢
€)@ (D) ©

Who among the following is considered as
the Father of Ecology in India ?

o A) Dr. Swaminathan  (B) Charles Darwin
~&8 ) Ramdeo Misra (D) S. L Bahuguna
Which of the following Ministries has

launched Tree Plantation Campaign
“Vriksharopan Abhiyan - 2021" 7

(A) Ministry of Coal

(B) Ministry of New and Renewable Energy
(C) Ministry of Forest and Climate Change
(D) None of the above

27. Which of the following is called as ‘Golden Fibre’ ?
(A) Cotton (B) Silk
(C) Jute (D) None of the above
CO, HCI
28,
Anhyd .AICI, /CuCl

25.

> A Als

(A) Phenol
(C) Chlorobenzene

(B) Benzoic acid
(D) Benzaldehyde

In a queue of children, Kashish is fifth from the
left and Mona is sixth from the right. When they
interchange their places among themselves,
Kashish becomes thirteenth from the left. Then,
what will be Mona’s position from the right ?
(A) 4» () 8"

(C) 14* (D) 15%

30. RISC stands for
(A) Risk Induced Set Computer
(B) Reduced Instruction Set Computer
(C) Risk Instruction Set Computer
(D) Reduced Inductive Set Computer

31.  Who among the following is called as the
Architect of Indian Planning ?
(A) Prasanta Chandra Mahalanobis
(B) Samarendra Nath Roy
(C) Debabrata Basu
(D) None of the above

25,

.
:
e

}9«
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ue 9Ta @) 3 W bt e B s 3 3 fegfaat
iR "
Y
6
”

2 1) i

24,

.

v & faafia #a-m dia B7
(A) $ (B) ¢
() @ (D) &
frafefiaa § 8 A wra o aififeafed) faam »
9 o W A AR |

(A) =, @rftnas (8) =Ted BifdA

(c) Tea fiaa (D) wA. U, g
26, fr=fafas 4 8 #5-3 gaem 3 darimo
5 it " gamim afvam-2021" wmw
fFm e ?
(A) 1T WA :
(B) Fet7 vd FtFvfia et Harea

C) A vd gftada garea
((D; mmm
freferfiae o & fFd “iegs wge s o & 7
(A) FTH (B) T
(C) 52 (D) IwrFa & & F§ &
CO, Hcl e
Anhyd -AICI, /CuCl g

(A) feaTe (B) FaTeH I
(C) FEArresi (D) FAfreerds

T=d1 &) uw ufaa § s and F of=d shoam
Zid @ 93 W W R | 99 A 19E § T4 a7 St
¥, @ wfig snd @ e @ st R | @ A=
T 2nd & -8 8 7 K

(A) 4%

(C) 14 af (o 1sat M 48
; mﬂﬁ qa.m.gmit &
(A) FEES HE FYX
1BVFE FATH HE e
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on heating with *Oﬁap_aeﬂaﬂ 37. %ﬂﬂ%ﬂ + | THY ﬂﬂ.« o __.w w

32. Who moved the Objective Resolution in the | 32 sy i s @1 1 300 T 1 2 iy 37. : ; S
Constituent Assembly of India ? foem T W ? : undergoes cross linking to form an infusible w ffife wob o giedtn 38 vod dan wem
(A) Dr. 8. R. Ambedkar (B) Valtabh Bhai Patel (A) 1. . 3, SR (8) T R S GRS e Jaee ¢ et :
(C) Mahatma Gandhi (D) Jawaharial Nehru () v mdt (D) STETET TE* (A) Novolac {6) Melamine (A) FEs (8) ¥amha 5
33. From the given answer figures, select theone in | 38, & 7§ Im ﬁ&&mwﬁgﬂ@mmﬁ oy (G Butaciene {0} Wopeenk (C) e (0) g S
which the question figure is hidden/embedded. ﬂﬂ-ia’%w_ 38. The ratio of third proportional to 12 and 30 38 waawawgnﬂﬂag%wu?umf
: and the mean proportional to 9 and 25 is T s wRA W s R g 2 s
(A) 51 (8) 2:1 (A) 5:1 (8) 2:1 A e
. (C) 9:14 (D) 7:15 (C) 9:14 (D) 7:15 Koz
T, \_?u. \I.I. 39. Lalalajpat Rai University of Veterinaryand Animal | _39. gﬁ?ﬁ?@nﬂggﬂé?
(a) \/ /\ (8) N\M\ﬁ\ N\, (A) (8) c\|r.s|1.. Soences located at district of Haryana afh w1 fasm fAafyasa ?w ?
$ VN7 N (A) Hisar (8) Jind B () feam (8) 2
./|,M\ b 4 (C) Karnal (D) Panipat Iamm (C) w== (D) wrfta
VN 7] 17 40. The foundation of Internet was laid in 40. ez 13 frm ad f it g 7
0 ESS (o) © o) Y | {A) 1990 (B) 1989 (A) 1990 (8) 1989
I\, (C} 1969 (D) 1998 (€) 1969 (0) 1998
34. Raman drove from home to another town g!&ﬁini*iggmaﬂﬁ 41. Reserve Bank of India commenced its a1, %g?w§§i€§~
2t the speed of 50 kmfhr and on his retorn | < 78 T e & o 36 S e 7 7 R
journey, he drove at the speed of 45 km/hr ot 45 fiefuz 1 fa & i ==nd ol 3w (A} April 1, 1944 (B) April 1, 1935 (A) 139%9, 1944 (B) 13fa, 1935
Ak a hout S i Bams: Wit 3 U W) S0 E | A A A {C) April 1, 1931 (D) None of the above (€ 13%@, 1931 (D) IV A B HHE A
distance did he cover each way ? Hmfr? ug 42. identify the incorrect statement about 82, i@ % walted e it i new www
{A) 500 km (8) 225 km (A) 500 fa (8) 225 fash Sieama Coort of Ind =
(€) 900 km (D) 450 km () 900 fast (D) 4s0 fast _ st ey bt
35. Auto Ma r decided to exit india sta fim e ra B & v B Beem = (A) The decisions of the Supreme Court are (A) waTe e W fofe wh s w
5 W_S—_ﬂnﬂhu pw. i S 2 s ﬁ binding on all Courts arcgarll g £ | -
(A) Ford (B) Telsa (A) wré (8) ZFm (B) It can not transfer Judges of High Courts. (8) Aaudnﬂﬂm_&a F Ammdrai 1 g T
(C) Kia (D) Ashoka Leyland (c) femn (o) smite & hs (C) It can move cases from any Co bbb,
y Court to (C) =r fat ¥t raTer | qIE W 59 TE
J itself. AFENE
36. Select the correct mirror image of the given *\ ﬁ.&iﬂ‘*?%ﬁﬂ-}ﬁ (D) It can transfer cases from one High Court (D) dﬂi&ﬁﬂlghﬂw&
figure, when the mirror is placed at line AB. T AB W@ AW | N : toanother. AR L wwa R |
Cr==en |||1|I.w0x.“.m A 43. A B CD EandF are six members of a family. | 43 A, 8,C, 0, £ 3% F uw vftan ¥ 6 weey §) whan d
E One couple has parents and their children in the vzl & gan-f a1 F A, cTPR,
] family. A is the son of Cand E is the daughter of A, eEAFighd D F g, AeHamb
4y s Dis the daughter of F, who is the mother of E Fopaferfiam 2 & - g zmfa & -fom § 7
I : Which of the following pairs is the parents of
w | B
- mFl

. 44, Egnagsﬂnq\ -‘ aﬁiu*a‘
! (A) Bacteria (B) Fungi (A) (8) waw
" E‘ ©) _ Hn_,. (©) Protozoa (D) Virus © oy ¢ _ =

L . B

BN SRRIE] | s n: | 5T REE
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.  There is no All-Women Police Station in 5  wwe it oo 2w 18 8
o rggciﬁumﬁiuﬂu = ga@@”ﬂ%ﬂd g”wﬁmﬂﬁﬁﬁ = (A) Jammu and Kashmir (B} Manipur > (A) w5y 3t v _m. Hforq .
energy and power electronics sector s i -~ (C) Damanand Diu (D) Meghalaya (c) = o dra (D) Frwer
ﬁ senRachna “M“ Hﬂﬂ%i ._M Mﬂ: __w" i 54, 'NOTA option is sauuu_qu tovotersinwhichof | s4, fy=ferfign & & ?ﬁ»mﬁa § gazad & B
: the following elections ¢ - iz’ ey e b 7
& What s the 11 Fundamental Duty in Indian |  46c = 2002 % walta @i & sgimn 11 o ifers 1. Rajya Sabha elections 1. TN
o s : 2. Lok Sabha elections 2. T 3
ComsStution added in the year 2002 7 wWawti e fass oty slactions 3 qﬂWﬂMMﬂ -
[A) To protect integrity of india (A) st W SywEm U w1 ) (A) 2and 3 only (8) 1only (A) % 2 30 3 (8) w1
s the duty of parents to provide education (8) Tm-Fmwm st K@= @ C) 2 only (D) 1and 3 only (C) ¥==1 2 D) ®aa 133
T ke 4 1 7 e sz 19
U.”l! mﬂ.ll!nmﬂ.inﬁﬁla:s“.” Mﬂlq_w.aﬁgﬂ qeas 1 55, Who was the first empress in the world ? 55. fafiyemayfiend 7’
o Hwnignl ; = v frwfiva 4 (a) Ceopatra (B) Hatshepsut (4) T (B) Bz
(D) Tossfaguard the public property (D) wafs wefa & T wE m“.w (C) Hammurabi (D) ShiHu Wang Ti (C) =g (D) fngam#A
©. nppsditesmetpefatinkin2dminutes | 47, W TR ¥ 70 T 0% 2 W 24 R A AR 7 56, Which of the following social bonds connect | 5+ Frefafas # & #9-3 awifas = w2
# two pipes go out of order, how long wilithe | - AT ETT eI &, Iy IE R VA ] people to society ? wwEaaEal? .
remaining pipes take to fill the tank ? s wwm A (A) Commitment (B) Attachmeot (a) sl (8) Werm
|4) 20 min (B) 45 min (A) 0z (8) 45 2 (C) tnvolvemnent {D) Allof the above (C) s=nifaaen (D) WO EH
1 : 1 e 57. In this question, two statements are given 57. wWyEidwE Rume, e amaiwitn
(G 192 min (D) 30 min _g Gm?a (©) 30 followed by two conclusions. Choose the < ¥ |3 P Y, A ke TR EaRE |
L U N w, pesEt conclusion(s) which best fts)iogically =
(A) Fishes {8) Cockroach (A) mafemt (8) frerap mﬁﬂznp___.l:ﬂn.uu! e (1) =t g, wofead £ 1
R () ¥gen ekt 2 (2) Some birds are fishes. () o, et 84 =
9. Durand Cup belongs to which sports ? a9 s fEmamdwtat 7 Coritdtings foremd - -
(A) Footnall (8) Cricket (A) Fza= (8) ~ |, Some fishes are bird. | gevefowl, g §
1C) Baskertsl (D) Basebail (C) Tz (D) Fweie II. Some birds are not horse. . ﬁ.ﬁi? :
| Which of the following s 3 social scence theory of | 50, e 38 - o sl faam feamm (A) Only conclusion Ii follows (a) 1| FFEw A
= lif.h.ge.ig = b, famd v wiE wIEE dE WS P {B) Only conclusion I follows (8) == fral | rmm wA B
her/his quality of ile ? = w9 s e § 7 (C) Neither conclusion | nor i follows (©) w7 el 13 @ nsgEm R
(A) Survival (8) e chances () FacaifEm (8) e B wwrEET (D) Both conclusions | and Il follow (D) Fed | 3fe 2T sFm wE §
(C) Opportunistic (D] Optimistic (C) FFaad (D) A 58. _«.izlaahﬂra?ums:xsnuz:gsa \rﬂf?”%&ﬂ.ﬁ&ﬁaﬂ!
{ . us| ) and do not show striations are &
e I Lt L LMLl Al T
ﬂrtuln.lq : & (C) Both{A)and(8) (D) Noneof these (€) (A) 3 (B) ¥ (D) FR AT A
lz‘?ﬂ. “ w.u id ﬁ WW _ﬁ“ H m 59.  United Nations Public Service Day is observed |  59. U1 Hyw 1 el vy R <= s o 8 7
S A unique name that identifies 2 52, - % ifedta am < v faim S £ (A) June 23* (8) October 22* W) B (8) 22
© paricular website and represents w # o 38w = owim @ el 3 e (C) November 11* (D) None of the above (©) 17 (o) A A
the name of nmd,wme 60. % u_ﬂ the title as ‘Admiral of the Indian | 60. ‘e i 2 iews s’ 9 vofs e
: an’
U)o s (A) Bartholomew Diaz
_afaﬂ e (8) Ferdinand Magellan
(C) Wz 7 W (e, A A (C) Amerigo Vespucci
(D) wEE e v (v A ) (0) Vasco-da-Gama
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: g% A of good cond
6L Thesaaresof A B Careintherano2:3:5. - ABCHIT 3 sHagum A B a3 68. ca!sas»so:uocuss uct | ga, ﬁﬂgaiaﬂsiﬂuﬂﬁ
If the increments of 15%, 10% and 20% are & T — uuﬂ.“o”nzno:&am“&ui 252-&3:5“;_” o e 03 3 e sk siie s d 7
sfiowed respectively in their salaries, then £ N =% ¥ = T a7 (A) Section 359 DC (a) dham @ £ am 358
what wil De the new rano of their salaries 7 . v ™ (8) Section 360 of Cr. (8) shsm o sh £ am 360
(A) 10:21:20 (8) 3:3:10 (A) 10:11:20 (8) 3.3:10 (€) Section 361 of Cr. P.C (c) whm o, € am 361
(0 23:33:80 (D) Cannot be determined (C) 23:33:60 (D) it 3¢l Faar o v (D) Section 362 of Cr. P.C (0) Fam &t 2. 6 wm 362
6. Who's the curment Director General of WHO ? | 62 v & weeq . o, % werfadee wha # 7 69. Inflation reduces the 6, wzdifa w0 el B
(A) Recrose Adhanom (A) teira Tt {A) purchs. _:xza ¥of money (A) w3 1 1 e
(%) Tedros Adhanom (8) Zzir wiam (B) Purchas .Ssan«os (8) Fegaii 1 wu ww
B_ Wedros Adhanom s gﬂ‘gﬂ _n_ Purchasing power -.eﬂ?... (c) g&&!i
D) Mackros Adhanom (D) &Y wtam MH (D) Purchasing power of property (0) @Fa 1 3w
. Rabut ranked minth from the top and thiry | 63 i e i v e Ay o8 70, T saiabiony of fesistion st the surtsce of | 2. S M e e v 4 fivwms et s S
eighth from the bottom in 2 dlass. How many srgefraat @ | wan A e faemdT 2 7 2% e i whe? Q
students are there in the class ? = (A) Rotation of _run.u:a on its axis (A) Hﬂ_fﬂ.ﬂﬁi C
A 2 (8) 46 (A) S0 (8) 46 e {B) The angle of inclination of the Sun’s rays {8) FIHEW -
o= D) 28 (€ s2 (o) 48 %m s o (© Q
$1. Certain number consists of two digits whose | 54, fseht ums Fafvtrs e & 2 o § ofl 3% oiw () :. _o:_a.__ﬂ.s Q.
sum s 5. If the order of dights is reversed, the wumot IR s T IR e, @ 71.  What is the site of Vernalisation ? . wEeET W A ? ©
new number is S less than the original number. oy = o e W @ 9 %9 WA B | W R (A) Apical bud (B) Lateral bud (a) o= w (8) Fz=wx m
The originel mumber s St : i he (C) Infected bud (D) Necrotic bud (C) Sxm =g (D) Fizwsw &
ﬂ“ o s sl ﬁ - "o" 5 72. Consider the following statements about 72 3 20e & wit & i vl O
€5. Which is the oytoplasmic hybrid produced e 3 RS § F9a 8 -1 jxﬂm%%u_“ﬂo_.hszﬁ_z assimilate w e =t : W
from the fusion of protoplast and cytoplast ? \n %i!gow technologies having commercial L 6% _gwi:ﬂi&a” =
o o Kby ﬂ#&ai - __ .o_an&uﬂua%ﬁﬁwﬂﬂﬂsnﬂ A A A # e a0 8 =
I
SEDNI gy Citvs .n_ o) & education institutions. " i e It | c
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3.

English Language
Fill in the blank with appropriate word from
the alternatives given below it.

is a gift from my father.
(B) This
(D) Which

(A) These
(C) Those

Write the words denoting sounds made by
the noun subjects from the alternatives given
below it.

Wings

(A) rumbles

(B) flutter

(C) clatter

(D) creak

Give the meaning of the underlined idiomatic

expression from the alternatives given below

it. (Understanding the context from the

sentence).

His failure in life can be attributed

only to the black ox.

(A) to be at the highest point of glory and
fame

(B) becoming less powerful and acceptable

(C) strong determination

(D) misfortune

Choose the right meaning of the following
idiomatic expression from the alternatives
given below it.

With open arms.

(A) Protest strongly

(B) Pleased to welcome something

(C) Keep in safe distance

(D) Avoid being too friendly

Choose the right antonym of the given word.

CONCEITED
(A) Detailed
(8) Convex
(C) Modest
(D) Diverge
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